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INSTRUCTIONS TO CANDIDATES
ANSWER QUESTION ONE (COMPULSORY) AND ANY OTHER TWO QUESTIONS
QUESTION ONE (30 MARKS)

a) Calculate the variance from the data given 20,25,36,42 and 45 (3 Marks)
b) The data below shows the Marks of student obtained in a given test;
Marks 0-5 5-10 10-15 15-20 20-25
No of student 2 5 10 6 7
Calculate the following;
)} Mean (3 Marks)
i) Median (4 Marks)
iii) Mode (3 Marks)

C) Given two matrices A and B

asly o B, 3
Determine the following;

)} Transpose of A (1 Mark)
i) AB (3 Marks)
i) BT+A (2 Marks)
d) Solve the following quadratic equation by factorization method;
4x2—7x+3=0 (3 Marks)
e) A bag contains 4 white beads and 3 black beads. A man pick 2 at random. Find the probability that
both beads are of same color. (4 Marks)
f) Solve the following simultaneous equation by using elimination method; (4 Marks)
3x+4y =14
5x -2y =6

QUESTION TWO (20 MARKYS)
a) Given two matrices A and B

alg 3l By

Determine the following;

)] Transpose of A (1 Marks)
i) BA (3 Marks)
i) BT+A (3 Marks)
b) Find the inverse of matrix , A = [_25 69 (3 Marks)
c) The following shows Marks obtained by student in a test.
Marks 0-10 10-20 | 20-30 | 30-40 40-50 | 50-60

No of students | 7 12 10 8 5 16




Calculate the following from the data above;

)] Q; (4 Marks)
i) Psq (4 Marks)
iii) Mode (2 Marks)

QUESTION THREE (20 MARKYS)
a) Solve the following simultaneous equation by;

ox +2y =4
3x+4y =6
)] Elimination method (4 Marks)
i) Substitution method (4 Marks)
b) Solve the following simultaneous equation by Matrix method; (4 Marks)
4a+2b =5
3a+5b=1
C) Ann bought 4 chairs and 5 tables at sh.450. Leah bought 6 chairs and 3 tables at 500. Calculate the
cost of a chair and a table. (4 Marks)
d) A bag contains 4 white beads and 3 black beads. A man pick 2 at random. Find the probability that:
)} Both beads are of same colour (2 Marks)
i) One white and one black (2 Marks)

QUESTION FOUR (20 MARKYS)
a) The data below shows the Marks of students obtain in KWUST;

Class interval | 0-10 10-20 20-30 30-40 40-50
Frequency 5 10 15 8 7
)} Draw a cumulative frequency distribution curve (4 Marks)
i) From the graph above, find the value of median graphically (3 Marks)
iii) find out the value of mode (3 Marks)
iv) Draw a histogram and superimpose a frequency curve (4 Marks)
b) Solve the following equation 4x? — 4x — 3 = 0
)] By formula (3 Marks)
i) Factorization (3 Marks)
QUESTION FIVE (20 MARKYS)
a) From the following information of cumulative distribution table
Class Interval Frequency
56-60 6
60-65 11
65-70 7
70-75 19
75-80 15
80-85 8
85-90 7
90-95 5
95-100 2
Calculate the;
) Mean (3 Marks)
i) Median (4 Marks)
iii) Mode (2 Marks)
iv) Variance (3 Marks)
V) Standard variation (5 Marks)

vi) Co-efficient of variation (3 Marks)



